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*UXSD���RG��������� *UXSD���RG���������

� � '5$*2-/29,û�0DMD �� 9DOLV��9$ 17
� -$.,&$�6DUD �� 1LV�������1, 17 � 1(1$',û�/HD �� 3LUDW��.* 17
� $1'5,û�%RåLFD �� 9DOLV��9$ 17 � /$=,û�6RQMD �� 9DOLV��9$ 17
� 67$0$729,û�$QD �� 6ORERGD��8( 17 � 98ý.29,û�,YD �� 1DSUHGDN��.â 17
� &9(7.29,û�.ULVWLQD �� -DJRGLQD��-$ 17 � 020,û�7DPDUD �� &UQLFD��31 17
� 5$'29$129,û�6HOHQD �� .UDOMHYR��.9 17 � 726,û�0LOLFD �� .UDOMHYR��.9 17
� � 6,0,û�0DMD �� &UQLFD��31 17
� � 0$5.29,û�$QGUHD �� 9DOLV��9$ 17
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� 72'2529,û�7HRGRUD �� &UQLFD��31 ������� � ,9$129,û�$QGMHOD �� &UQLFD��31 �����
� 0,/,û�$QGMHOD �� 1LV�������1, ����� � 98ý.29,û�(PD �� 1DSUHGDN��.â �����
� &95.27,û�.ULVWLQD �� 8åLFH��8( ����� � $95$029,û�0LOLFD �� 3LUDW��.* �����
� ý(3(5.29,û�2OJD �� *Rþ��9% ����� � 72'2529,û�-RYDQD �� 1LV�������1, �����
� 98ý,û(9,û�1LQD �� 1DSUHGDN��.â ����� � %8*$5,û�$QD �� .UDOMHYR��.9 �����
� â/-,9,û�.ULVWLQD �� 3LUDW��.* ����� � %/$*2-(9,û�-DQD �� .UDOMHYR��.9 �����
� 2'29,û�1HYHQD �� 1DSUHGDN��.â ������� � â/-,9,û�0LOLFD �� *Rþ��9% �����
� 0,/29$129,û�,VLGRUD �� 1DSUHGDN��.â 17 � 1(â29$129,û�-DQD �� 3LUDW��.* �����
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� $&.29,û�-RYDQD �� 1DSUHGDN��.â ����� � 67$0(1.29,û�-HOHQD �� 1LV�������1, �����
� %8'-(/$1�$QMD �� 1LV�������1, ����� � .1(ä(9,û�$QGMHOD �� 1DSUHGDN��.â �����
� -26,)29,û�1LQD �� *Rþ��9% ����� � =/$7.29,û�.VHQLMD �� 1LV�������1, �����
� 3(7529,û�,ULQD �� 1LV�������1, ����� � 2672-,û�7HRGRUD �� 8åLFH��8( �����
� ',0,75,-(9,û�0LOLFD �� 6�1LNROD��1, ����� � $56,û�6DQMD �� 1LV�������1, �����
� $'$029,û�,YRQD �� .UDOMHYR��.9 ����� � 2%5$'29,û�$QGMHOD �� 3LUDW��.* �����
� '(1,û�9LãQMD �� 6�1LNROD��1, ����� � &9(7.29,û�7LMDQD �� -DJRGLQD��-$ �����
� 3(â,û�/MXELFD �� 1LV�������1, ����� � .8-81'ä,û�$QGMHOD �� .UDOMHYR��.9 �����
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� 5$'$.29,û�,YD �� 5DGQLþNL��.* ����� � 0$5.29,û�-RYDQD �� &UQLFD��31 �����
� 1,.2/,û�0LQD �� -DJRGLQD��-$ ����� � 672-.29,û�7DPDUD �� 5DGQLþNL��.* �����
� 5$'(1.29,û�.ULVWLQD �� 6�1LNROD��1, ����� � '-25'-(9,û�,YDQD �� 6�1LNROD��1, �����
� 0,7,û�-RYDQD �� 1LV�������1, ����� � &2-,û�1LQD �� 6�1LNROD��1, �����
� ý$1,û�0LOLFD �� 5DGQLþNL��.* ����� � 3(7529,û�0LOHQD �� 3LUDW��.* �����
� '$.,û�-RYDQD �� -DJRGLQD��-$ ����� � 1,.2/,û�7HRGRUD �� 5DVLQD��.â �����
� '-81,6,-(9,û�1HYHQD �� 8åLFH��8( ����� � 6(.8/29,û�$QGMHOD �� 5DVLQD��.â �����
� 1,.2/(1'ä,û�0LRQD �� *Rþ��9% ����� � 0,/26$9/-(9,û�6DUD �� 5DGQLþNL��.* �����


